
Pos. Description-ENG Pcs/unit Part n:o

8 Armature 230 V w/ bearings and magnet 1 8912026

Armature 230 V 1 8912001

Magnet X NR808 1 8910277

Bearing 6001 1 8910524

Bearing 608 1 8910437

8 Armature 120 V w/ bearings and magnet 1 8912033

Armature 120 V 1 8912063

Magnet X NR808 1 8910277

Bearing 6001 1 8910524

Bearing 608 1 8910437

19 Locking Lever ASSY 1 8912038

Locking Lever 1 8912044

Attention Sticker Yellow 1 8912052

3 Cutter shaft ASSY 1 8912074

Gear cover 1 8912022

Bearing 6202 1 8910125

Bearing 6001 1 8912016

Screv M4x8 BN1206 3 8912023

Key A5x5x18 DIN 6885 1 8912021

Retaining rings 15x1 DIN 471 1 8910616

Retaining rings 13x1 DIN 471 1 8912018

Gear 4, Z=35 1 8912020

Blade shaft 1 8912015

Bearing 609 1 8911094

4 Gear shaft ASSY 1 8912075

Bearing 609 1 8911094

Retaining rings 14x1 DIN 471 1 8912027

Gear 2, Z=28 1 8912025

Gear 3, Z=14 1 8912024

20 Wiring set 230V 1 8912039

Wire Brown, L=250mm 1 8912009

Wire Blue, L=250mm 1 8912010

Wire Brown, L=360mm 1 8912012

Wire Blue, L=360mm 1 8912011

20 Wiring set 120V 1 8912054

Wire Brown, L=260mm 1 8912065

Wire Blue, L=260mm 1 8912066

Wire Blue, L=340mm 1 8912067

Wire Brown, L=340mm 1 8912068

64 LASER - assembly 1 15508-20

KONNECTOR MOLEX 43645-0200 1 15668-00

PIN MOLEX 43030-0007 2 15669-00

130 TURNING PROFILE RIGHT 220 PS - ASSAMBLY 1 15689-00

ECCENTER PC360E 1 11129-60

WHEEL FOR ECCENTER PC360E 1 11130-50

SLIDING BEARING GSM-0810-20 IGUS 4 11176-00

SPECIAL SCREW M8X40 2 11177-00

PIN SCREW M4X6 DIN913 1 11570-00

SLIDING BEARING GFM-1416-04 IGUS 2 11889-00

TURNING PROFILE RIGHT 220 PS 1 15682-00

BEARING  - SA 1 11143-00

140 TURNING PROFILE LEFT 220 PS - ASSAMBLY 1 15690-00

SLIDING BEARING GSM-0810-20 IGUS 4 11176-00

SPECIAL SCREW M8X40 2 11177-00

SCREW M5X6 ISO 7380 2 590872-09

TURNING PROFILE LEFT 220 PS 1 15681-00

SPRING PLATE 2 10994-05

WHEEL FI24 2 11891-00

Washer A 8,4 DIN 125 4 725929

120 PULLING PROFILE 220 PS - ASSABMLY 2 15691-00

SPECIAL SCREW M8X40 2 11177-00

PULLING PROFILE 220 PS 1 15683-00

BEARING  - SA 2 11143-00


